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MATHEMATICS
IMPORTANT QUESTIONS
i) Express the numbers 429 and 6385
as the product of their prime factors.
ii) Find the HCF and LCM of the two
numbers by using their products of
prime factors.

i) 31429 516825
111143 511365
13 131273
3121
7

.. Prime factorization of 429 = 3x11 x 13
and 6825 =3 x52x 7 x 13
i1) LCM of 429 and 6825 = product of the
greatest power of each prime factors of
the number
=3x52x7x%x11x%x13 =75,075
ii1) HCF of 429 and 6825 = product of
the power of each common prime
factor of the number =3 x 13 =39
Find the 24" term from the last of the
A.P series 10, 7, 4, ....(—101)
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: From the given arithematic progression

we havea=10, d=7-10=-3
last term [ = —101.
To find the 24™ term form the last of A.P.
we need to know the total number of the
terms in the series.
t,=a+(n-1)d = -101=10+ (n -1) (-3)
= (n—-1)(-3) =-101-10=-111
(n-1)=—1_37
-3 =n=37+1 =38

.. There are 38 terms in the given series.
The 24 term from the last will be the
15™ term of the series.

[Note: If the position of a number from
the beginning is 'a' and form the last is '/’
then (a + /) —1 = Total number of terms in
the series]

. 15" term of the series
tis=a+(m-1)d
= 10+(15-1)(-3)=10+14(-3)=10-42 =32
. The 24™ term from the last of the series is —32
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Find all the zeroes of 2x% — 3x3 — 3x2 +
6x — 2 if V2 and —V2 are the two zeroes
of the polynomial.

Let f(x) =2x*—3x3 = 3x2 + 6x — 2

As V2 and —2 are the zeroes of f(x)

= (x—\/ 2), (x + \ 2) are the factors of f(x)
and (x — V2)(x + V2) = x2=2 also a factor
of f(x)

x2=2) 2x*-3x3-3x2 + 6x-2 (2x2-3x+1
2xt —4x?

=2x (x—1) —1(x—1)
=(2x-1) (x-1)

if f(x) =0
=2x—1=0

or
x—-1=0
= x=Yaor
x=1
~.=V2, 42, 1 and ¥ are the factors of f(x)

—~ -
—3x34+ x%2 + 6x
—3x3 + 6x
+ —

+x2 -2
+x2 =2

= f(x)

= (% —-2) (2x2-3x+1)
Now,

2x> = 3x+1
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